



Commercial Invoice

EXPORTER

WORLD THREADS INC. DBA EBERJEY INTIMATES
3325 NW 70th Avenue
Miami, FL33122
UNITED STATES
Telephone:(305) 699 - 0547 ext. 2220

Ship Date:

02/18/2026

Order No:

MA CHERIE SS26

Customer PO Number:

MA CHERIE SS26

Pick Number:

EBJ-1661225

Purpose of Shipment:

COMMERCIAL

CONSIGNEE

MA CHERIE BOUTIQUE
KONTOGIANNI 15VAT: EL094158602
LYKOVRYSI, 14123
GR

SOLD TO

MA CHERIE BOUTIQUE
KONTOGIANNI 15VAT:
EL094158602
LYKOVRYSI, 14123
GR

Terms of Sale: EXW

Payment Terms:

PREPAID WIRE

Currency: USD

Parties to Transaction:

Related Non-Related

Telephone: 302102897400
E-mail:

Style No.	Description of Goods	Color	Contents	COO	HTS	Units	Unit Value	Value
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	9	48.00	432.00
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	5	48.00	240.00
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	9	48.00	432.00
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	5	48.00	240.00
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	9	48.00	432.00
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	5	48.00	240.00

Style No.	Description of Goods	Color	Contents	COO	HTS	Units	Unit Value	Value	
PJ1018	GISELE LONG PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	51.75	517.50	
PJ1018	GISELE LONG PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	51.75	517.50	
PJ1018	GISELE LONG PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	5	51.75	258.75	
PJ1018	GISELE LONG PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	5	51.75	258.75	
PJ1018SN	GISELE RLX SHORT PJ	BCIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00	
PJ1018SN	GISELE RLX SHORT PJ	BCIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00	
PJ1018SN	GISELE RLX SHORT PJ	BCIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	8	48.00	384.00	
PJ1018SN	GISELE RLX SHORT PJ	BCIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	2	48.00	96.00	
PJ1018SN	GISELE RLX SHORT PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00	
PJ1018SN	GISELE RLX SHORT PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	10	48.00	480.00	
PJ1018SN	GISELE RLX SHORT PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	8	48.00	384.00	
PJ1018SN	GISELE RLX SHORT PJ	SFIV	95% TENCEL MODAL / 5% ELASTANE	VN	6108.32.0010	2	48.00	96.00	
						Total Units:	192	Subtotal Value:	9,328.50
						Freight:			
						Total:			9,328.50
						Currency:			USD

From: WORLD THREADS INC.
 DBA EBERJEY INTIMATES
 3325 NW 70th Avenue
 Miami FL, 33122
 USA

Ship To: MA CHERIE BOUTIQUE
 KONGOIANNI 15 VAT:
 EL094158602
 LYKOVRYSI , 14123
 GR

PO:MA CHERIE SS26
 PT:EBJ-1661225
 Store: MAC123
 Vendor:
 DC: MAC123

*Total Weight: **181 lbs** Total Volume: **11.00 cuf** Box Count: **7**

Style No	Style Description	Color	Size	Barcode	Quantity
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	XS	190491162902	10
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	S	190491162919	10
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	M	190491162926	9
PJ1018SN	GISELE RLX SHORT PJ	NA/IV	L	190491173878	5
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	XS	190491212799	10
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	S	190491212805	10
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	M	190491212812	9
PJ1018SN	GISELE RLX SHORT PJ	SO/BK	L	190491212829	5
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	XS	190491300885	10
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	S	190491300892	10
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	M	190491300908	9
PJ1018SN	GISELE RLX SHORT PJ	PI/NY	L	190491300915	5
PJ1018	GISELE LONG PJ	SFIV	XS	190491370468	10
PJ1018	GISELE LONG PJ	SFIV	S	190491370475	10
PJ1018	GISELE LONG PJ	SFIV	M	190491370482	5
PJ1018	GISELE LONG PJ	SFIV	L	190491370499	5
PJ1018SN	GISELE RLX SHORT PJ	BCIV	XS	190491370567	10
PJ1018SN	GISELE RLX SHORT PJ	BCIV	S	190491370574	10
PJ1018SN	GISELE RLX SHORT PJ	BCIV	M	190491370581	8
PJ1018SN	GISELE RLX SHORT PJ	BCIV	L	190491370598	2
PJ1018SN	GISELE RLX SHORT PJ	SFIV	XS	190491370710	10
PJ1018SN	GISELE RLX SHORT PJ	SFIV	S	190491370727	10
PJ1018SN	GISELE RLX SHORT PJ	SFIV	M	190491370734	8
PJ1018SN	GISELE RLX SHORT PJ	SFIV	L	190491370741	2

192

* Dims and Weight reflected on the header of this document are only preliminaries , the actual weight of this order is reported later on the routing process, please don't use these values as a fact.

Total Cartons Details*Total Weight: **181 lbs**Total Volume: **11.00 cuf**Box Count: **7**Carton # **1** Carton ID 01904911104644943

<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491162926	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	M	7
190491173878	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	L	4
190491212799	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	XS	4
190491212805	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	S	6
190491300885	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	XS	2
190491300915	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	L	1
190491370499	PJ1018	GISELE LONG PJ	SFIV	L	4
190491370741	PJ1018SN	GISELE RLX SHORT PJ	SFIV	L	2

W x H x L inches

14 x 12 x 18 Weight: **29 lbs** Vol: **1.75 cuf**Total in carton: **30**

Tracking Number:

Carton # **2** Carton ID 01904911104645018

<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491162902	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	XS	1
190491162926	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	M	2
190491173878	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	L	1
190491212799	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	XS	2
190491212805	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	S	4
190491300892	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	S	10
190491300908	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	M	9
190491370499	PJ1018	GISELE LONG PJ	SFIV	L	1
190491370598	PJ1018SN	GISELE RLX SHORT PJ	BCIV	L	2

W x H x L inches

14 x 12 x 18 Weight: **29 lbs** Vol: **1.75 cuf**Total in carton: **32**

Tracking Number:

Carton # **3** Carton ID 01904911104645032

<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491162902	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	XS	9
190491300915	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	L	4
190491370468	PJ1018	GISELE LONG PJ	SFIV	XS	7
190491370567	PJ1018SN	GISELE RLX SHORT PJ	BCIV	XS	8
190491370574	PJ1018SN	GISELE RLX SHORT PJ	BCIV	S	2

W x H x L inches

14 x 12 x 18 Weight: **29 lbs** Vol: **1.75 cuf**Total in carton: **30**

Tracking Number:

Carton # **4** Carton ID 01904911104645155

<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491212812	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	M	7
190491370468	PJ1018	GISELE LONG PJ	SFIV	XS	2
190491370482	PJ1018	GISELE LONG PJ	SFIV	M	5
190491370581	PJ1018SN	GISELE RLX SHORT PJ	BCIV	M	8
190491370734	PJ1018SN	GISELE RLX SHORT PJ	SFIV	M	8

W x H x L inches

14 x 12 x 18 Weight: **29 lbs** Vol: **1.75 cuf**Total in carton: **30**

Tracking Number:

Carton # 5		Carton ID 01904911104645179			
<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491212799	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	XS	4
190491212812	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	M	2
190491212829	PJ1018SN	GISELE RLX SHORT PJ	SO/BK	L	5
190491300885	PJ1018SN	GISELE RLX SHORT PJ	PI/NY	XS	8
190491370567	PJ1018SN	GISELE RLX SHORT PJ	BCIV	XS	1
190491370574	PJ1018SN	GISELE RLX SHORT PJ	BCIV	S	3
190491370710	PJ1018SN	GISELE RLX SHORT PJ	SFIV	XS	10
190491370727	PJ1018SN	GISELE RLX SHORT PJ	SFIV	S	2
W x H x L inches					
14 x 12 x 18 Weight: 31 lbs Vol: 1.75 cuf					
Tracking Number:					Total in carton: 35

Carton # 6		Carton ID 01904911104645209			
<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491162919	PJ1018SN	GISELE RLX SHORT PJ	NA/IV	S	10
190491370475	PJ1018	GISELE LONG PJ	SFIV	S	10
190491370567	PJ1018SN	GISELE RLX SHORT PJ	BCIV	XS	1
190491370574	PJ1018SN	GISELE RLX SHORT PJ	BCIV	S	5
190491370727	PJ1018SN	GISELE RLX SHORT PJ	SFIV	S	2
W x H x L inches					
14 x 12 x 18 Weight: 27 lbs Vol: 1.75 cuf					
Tracking Number:					Total in carton: 28

Carton # 7		Carton ID 01904911104645339			
<u>UPC</u>	<u>Style</u>	<u>Style Desc</u>	<u>Color</u>	<u>Size</u>	<u>Qty</u>
190491370468	PJ1018	GISELE LONG PJ	SFIV	XS	1
190491370727	PJ1018SN	GISELE RLX SHORT PJ	SFIV	S	6
W x H x L inches					
12 x 6 x 12 Weight: 7 lbs Vol: 0.50 cuf					
Tracking Number:					Total in carton: 7

* if the orders is palletized the weight of the pallets and wrapping materials are not included